The Association of Corporate Treasurers CPD Entry Test

Financial Accounting and Reporting (General)
Worked Solutions
Question 1

 


The following is the closing balance sheet for an advertising agency which your company has just purchased for £5M.


Fixed Assets



£’000s



Fixtures and fittings

65


Current Assets



Cash



250



Debtors


145


Creditors due in >1 year



Tax payable


25



Dividend payable

65






370


Shareholders Funds



Share capital


20



P&L account


350







370

What is the amount of goodwill purchased?

(a) £4.54M

(b) £4.63M

(c) £4.98M

(d) £4.21M

(e) Don’t know.

Answer

The right answer is  (b) £4.63M.

Goodwill is the excess of the purchase price over the net assets purchased i.e. £5M-£370,000 = £4.63 M.

Answer (a) is the excess over total assets.

Answer (c) is the excess over share capital.
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Question 2



In May 2005 the Accounting Standards Board issued Reporting Standard 1: Operating and Financial Review.  This specified the form of the OFR for UK quoted companies and others producing an OFR.  In November 2005 the Chancellor of the Exchequer announced that the Government had decided to no longer require quoted companies to prepare an OFR.

Which of the following is the reason for the change?

(a) The UK Government realised it had been wrong

(b) The EU realised it had been wrong. 

(c) The EU Accounts Modernization Directive required a similar Business Review 

(d) IFRS replaces the OFR with a more stringent requirement

(e) Don’t know

Answer 

The right answer is   (c) The EU Accounts Modernization Directive required a similar Business Review

The decision was presented by the Chancllor as a move to redi=uce the burden of regulation on business.  Quote from the Chancellor, “This is in line with the Government’s general policy not to impose regulatory requirements on UK businesses over and above relevant EU Directive requirements”

ACT website: http://www.treasurers.org/technical/papers/resources/chancellorsstatement_28nov05.pdf
The Treasurer Jan/Feb 2006 Technical Update 

Question 3


You have just purchased a consumer business for considerably more than its net asset value.  You have decided to incorporate a brand valuation as well as a goodwill element, both of which are asserted to have indefinite lives.

Which of the following statements is true?

(a) You must amortise the both brand value and goodwill

(b) You must review brand value and goodwill annually for possible impairment

(c) You must amortise brand value, goodwill is subject to impairment testing

(d) You must amortise goodwill, brand value is subject to impairment testing

(e) Don’t know.

Answer

The right answer is  (b) You must review brand value and goodwill annually for possible impairment.

Both acquired goodwill and brand values with indefinite lives are not amortised but must be tested for impairment at least annually, at the same time each year.  Most brand values claim indefinite life and that brands are enhanced during the year rather than eroded.  

IFRS 3, IAS 38

KPMG’s IFRS: An Overview June 2005 (available on KPMG website at http://www.kpmg.co.uk/master/pubs.cfm# )
Question 4

You are a Director of a small independent private company, invited on to the Board due to your knowledge of the financial and regulatory aspects of managing a business.  Specifically, the firm has in the past run into trouble due to a late filing of its accounts with Companies House.
Which of the following gives the appropriate time limits for filing accounts with Companies House, assuming that the accounting reference period has been neither lengthened nor shortened?

(a) 10 months for private companies and 7 months for public companies

(b) 7 months for private companies and 10 months for public companies

(c) 22 months for private companies and 19 months for public companies

(d) 19 months for private companies and 22 months for public companies

(e) don’t know

Answer

The right answer is (a) 10 months for private companies and 7 months for public companies

Companies House website: http://www.companieshouse.gov.uk//about/gbhtml/gba3.shtml#one
Question 5 

According to IAS 39 and FAS 133, a fair value hedge is accounted for according to which of the following?

(a) mark to market with gains and losses going through the P&L

(b) mark to market with gains and losses held in equity reserves

(c) at accrued cost with gains and losses kept in equity reserves

(d) at accrued cost with gains and losses offset against the underlying position

(e) don’t know

Answer

The right answer is (a).
The hedging effect is achieved by additionally being allowed to adjust the carrying value of the hedged item with the gain or loss going to P&L as well as the gain or loss on the hedging instrument
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The Treasurers’ Handbook 2005; IAS39 and IAS32 for Treasurers – Hedge Accounting and FAS 133 – accounting for derivative instruments and hedging activities available at http://www.treasurers.org/bookshop/resources/handbook06/fas133_05.pdf
Question 6
According to the recent IAS 39 and FAS 133, a cash flow hedge is accounted for by which of the following methods?

(a) mark to market with gains and losses going through the P&L

(b) mark to market with gains and losses held initially in the balance sheet
(c) at accrued cost with gains and losses held initially in the balance sheet
(d) at accrued cost with gains and losses offset against the underlying position

(e)  don’t know

Answer

The right answer is (b).
The gain or loss on a cash flow hedging item that is deemed to be effective is taken to equity and the ineffective portion is recognised in P&L.  When the cash flow eventually occurs the gain or loss in reserves is reclassified into P&L
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The Treasurers’ Handbook 2005; IAS39 and IAS32 for Treasurers – Hedge Accounting and FAS 133 – accounting for derivative instruments and hedging activities, available at
http://www.treasurers.org/bookshop/resources/handbook06/fas133_05.pdf
Question 7 
All of the criteria for a derivative to qualify for hedge accounting must be satisfied throughout the term of the hedge.  Which of the following action must be taken if the derivative no longer meets all of the criteria?
(a) The derivative must be reclassified as “held to maturity” and changes in value taken to equity

(b) The derivative must be reclassified as “held to maturity” and changes in value taken to the income statement

(c) The derivative must be reclassified as “available for sale” and changes in value taken to the income statement

(d) The derivative must be reclassified as “available for sale” and changes in value taken to equity

(e) don’t know

Answer

The right answer is (c) The derivative must be reclassified as “available for sale” and changes in value taken to the income statement

The Treasurers’ Handbook 2005, IAS 39 and IAS 32 for treasurers – hedge accounting, available at 
http://www.treasurers.org/bookshop/resources/handbook06/fas133_05.pdf
IAS39 Achieving Hedge Accounting in Practice, Dec 2005, PricewaterhouseCoopers http://www.pwc.com/extweb/pwcpublications.nsf/docid/FCC89DFAD54F616C802570DD005AEC34
Question 8  

You are responsible for financial risk management within a large international group based in the UK and with subsidiaries in Europe and Asia.  Your subsidiary in Italy has suggested actions for dealing with its financial risks.

Which of the following possibilities describes two possible courses of action where hedges are acceptable within IAS39 to qualify as hedges for the group?

(a) The sub in Italy arranges a derivative to cover its FX risk and a non-derivative instrument to cover its interest rate risk; both with Group Treasury in the UK
(b) The sub in Italy arranges a derivative to cover its interest rate risk and a non-derivative instrument to cover its FX risk; both with Group Treasury in the UK
(c) The sub in Italy arranges a derivative to cover its FX risk and a non-derivative instrument to cover its interest rate risk; both with your relationship bank
(d) The sub in Italy arranges a derivative to cover its interest rate risk and a non-derivative instrument to cover its FX risk; both with your relationship bank

(e) don’t know

Answer

The right answer is (d)  The sub in Italy arranges a derivative to cover its interest rate risk and a non-derivative instrument to cover its FX risk; both with your relationship bank.

Only  derivative instrument external to the entity can be used as a hedging instrument.  Non-derivative instruments can only qualify as hedges where they are to manage foreign currency risks.

The Treasurers’ Handbook 2005, IAS 39 and IAS 32 for treasurers – hedge accounting
http://www.treasurers.org/bookshop/resources/handbook06/fas133_05.pdf
Question 9  

FRS 17 specifies that the present value of future pension liabilities should be calculated using which of the following discount rates?

(a) risk-free rate

(b) AAA corporate bond rate

(c) AA corporate bond rate

(d) the expected rate of return on investment

(e) don’t know

Answer
The right answer is (c) AA corporate bond rate
FRS 17 specifies the discount rate as being the yield on high quality bond and goes further to state that this equates to AA yields.  IAS 19 is similar in that it specifies yields on ‘high quality corporate bonds’ but does not actually mention the AA level.
Pensions Risk Management Manual; Ch 4

FRS 17

Question 10  

A UK-based group has a subsidiary in the US which is expected to deliver a dollar denominated inter-company dividend to the parent.
From the following possibilities, which is appropriate for hedging the value of the dividend payment?

(a) A USD call option should be purchased and documentation recorded to qualify for hedge accounting

(b) A USD put option should be purchased and documentation recorded to qualify for hedge accounting

(c) A USD forward contract should be entered into and documentation recorded to qualify for hedge accounting

(d) Any economically effective hedging instrument is appropriate; the hedge cannot qualify for hedge accounting

(e) don’t know

Answer

The right answer is (d) Any economically effective hedging instrument is appropriate; the hedge cannot qualify for hedge accounting

Inter company dividends are not foreign currency transactions that can be hedged according to IAS 39, as they do not affect the Consolidated Income Statement.  An intercompany dividend is a distribution of earnings.  Once the dividend has been declared, the expected receipt could qualify because gains and losses would not fully eliminate on consolidation.

IAS39 Achieving Hedge Accounting in Practice, Dec 2005, PricewaterhouseCoopers
http://www.pwc.com/extweb/pwcpublications.nsf/docid/FCC89DFAD54F616C802570DD005AEC34
PAGE  
1

